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Our shiur began with the Gemara referring to the final phrase
of'the mwn on the previous Daf

PR i 35 PR Y -

All those who go out of the Dinn to rescue people may go
back to their place on naw.

The X3 at first understood this to mean that the miwn allows
them to go all the way home, even if it is more than 2000 m»R
from their current location.

However, the beginning of our mwn and the mwn» in MWn WRI
only allow them to go 2000 X from their new location, and
NOT all the way back home? 2

20009

The xm2 offers two answers:

279 99R 7 27 explains that our 73w also only allows them
to go 2000 MnN from their new location, and the win is that
they are permitted to carry their weapons back with them.
Only allows
PN’ 92 P 27 answers that our 3w actually allows them to 2000 m»N
come all the way back home, but only in a case where the
Jews lost the battle and it may be dangerous to stay within
the new 2000 MR,

The mwn in mwn WK1 is talking about a case where the Jews
won the war and there is no need to go back beyond the new

2000 MIDR. Allows even MORE than

. 2000 N
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Parenthetically, the X3 teaches that if non-Jews attack a
city on Shabbos

1n oY Sy - for money and property,

WA IR 1O PO PRI 1T532 05D PRI PR -

The Jews may not carry their weapons, or otherwise
desecrate the naw to defend their property.

mwo3 oY by - If there is a threat to people’s lives,

WA NR 17O PH 1371 501 oY PRI -

The Jews may go out with their weapons, and desecrate the
naw to defend themselves.

An attack on a border town is always considered to be life
threatening.

VIRT the WD
Y PO RIT I ARN TV TITI VW D - yéﬂ
If a person was travelling and did not realize until naw
started that we was within 2000 M of a city,

. PR 77737 I RS 377 722 0N A0 RO DRI -
Since he was not aware of it at the onset of naw, he cannot
claim the city as his residence and take on their oinn. Rather,
he is limited to 2000 Mm»R from his current location.

b R0 RYT 97 AR

1Y MR AT I - A

He can assume the city to be his nnvaw oipi» - his residence,

and takes on their onn.

To understand this np>mn we must refer to a 2"y V"1 97 WP

which teaches that the o'1on allowed a traveler to have in he woudd have wanted
mind to be 72w 7N - establish his residence at any point to be 2l p
within 2000 m»R of his actual location at the onset of naw. in the cily

R’ Yehuda holds that regarding a city, we assume that he
would have wanted to be nm»aw nnp in the city had he been
aware of its existence. . .
R’ Meir does not make this assumption. and he came into the Clty

To support his position 77 ' related an incident where 17 and spent the entiren30 darshening in thewym
1970 was in this situation, and he came into the city and spent
the entire naw darshening in the w37 M2

PR 7 is not convinced by this proof because

-1- b ROY -

It could be that 1970 "7 knew about this city, and intended to
make it his naw residence

before . et Fal! 1253
-2- PR DN N2 YO WITHN VIR - v mitfa -
Maybe the w37 2 was within 2000 mnR of his current a\lnlalul -[‘ na

. location. -y
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VINT the mwN:

YWNY YT R IOV D -

Ifa traveler was asleep when naw started,
MM AP 7727 M 5D AR DR 1D W -
He was nmaw nnp on that spot, and he has a oinn of 2000 mnx vy V'l’ Sbﬂ
in each direction.

TIBR PIIR ROR D PR DWIR D700 -

He only has four m»x from his current location.

\'D/é/‘/

o%aon RN

The rest of the mwn will be reviewed with the n”» 97 X3,

112 JINY °27 120 RD K17V -
Rava asks whether *11312 1317 "7 holds that the sleeping person
is granted 2000 M»R because no intention is necessary to
acquire a onn - and therefore, he would also hold

. W PR Ipon *3on - ownerless objects have a oinn of their
own, even though there is nobody to have intent for them.
According to the oo, since a sleeping person is NOT
granted a DiNn because intent to be 72w 7P IS necessary,
AW PP PR PO 3o - ownerless objects certainly cannot
acquire a onn of their own.

PO? 27 7/959 27

Pl P V.2 Pl 1P

OR - We could explain *1112 1377 '7's opinion that a sleeping
person is granted 2000 MR because

IR I T IR MW PRI -

Since he is capable of intent when awake, he can acquire a
own even while asleep.

However, *112 30 "3 would agree that

AW PP PR PO xom - ownerless objects, do not acquire a
o of their own, because there is no capability of intent at
all.

PP 127 PP 27

wrlyppt wlyppk
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Dedicated By:

qov 217 proves from a Xn»92 that >332 137 "3 must hold *3on
Y PRR PO,

The xn»72says;

M7 535 AR 05K DAY W2 210 DY 2990 1TVW DDWA -

Rain that falls before 210 0» acquires a 0nn of 2000 M»R. The
rainwater is Ipon and is 72w NP at the point where it was
collected.

This obviously cannot be reconciled with the o151, and must
reflect the opinion of > 13172 Ay .

»2R points out a contradiction between a mwn and a Rn»71.
The mwn says; 7 9370 7 S0 M1 -

A privately owned well acquires the oinn of its owner.

PYA MR DI PV AR S0 -

A city owned well has the onn of its owners, the city
dwellers.

R5PPA 9375 53275 S -

A well which is meant for travelers is 7397 - has no oinn of'its
own - and will acquire the onn of each person who will draw
water.

The X712 says; M7 225 MR D05R DY W VAW Hw N1 -

A public well HAS its own onn.

This can only be resolved by assuming that the mwn follows
the opinion of the o1om that

AW PIR PR PO 30 -

While the X092 follows the opinion of *11 72 377’ that
AW PIR PO 3O

DR 525379977 0 Ora I IR -

The Xn™72 says that when it rains on 270 0y, since it was not
nnaw nip before 210 ov, the water takes on the oinn of
whoever takes the water.
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The xx wonders why the water did not already acquire a
own wherever it was when 210 Dy started, leaving it outside
ofits minn after it rains, and therefore limited to four mnR?
Assuming the rainwater to be in the clouds -

We cannot say that it's not nn°aw nnp because of -

7wYR TS 7NN PR - There is no pminn 7 above ten onov
- Because, that would be npomna 75n discussed on 3"» 97 -
We cannot say that it's not nn°aw nnp because of -

51 Y RV ND - water is absorbed in the clouds as
vapor, and is considered to be non-existent - Because, then
the rainwater would be nxpw as a 751 - something that
comes into existence on 170 DY

Instead the Xm3 answers

PTIITPH DAV DD -

The waters in the clouds are considered existent, but are

constantly moving, and therefore cannot be nmaw nnp.
. Similarly, if we would assume that the water was in the

ocean - the original source of all rainwater - when 210 o Was not D2l 3’)///’)

began, it was not 1n°aw n1p there, because the ocean waters

are also constantly in motion.

Was not 2p7C 2/
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